B Version A

i : i N 3. Jordan belleves that rotating square ABCD 90 degrees . - “clockwise about the origin results in a square
Which of the following statements is true about the arrows on the coordinate plane below? thet ha e safue ‘;rea n “?:gm“h quadrant. Laurita doss not agree. She believes the square will have the
¥ same area, but will be in the second quadrant. Which of the following statements is true about the students’
t work?

A. Laurita is comect. What Jordan described could be the results of reflecting the square across the

A. A translation of the arrow on the ?a"(_ﬁyf’produced an arrow with corresponding equal sides. Ypaxis raiher than rotating it. .
B. A reflection of the arrow on the .ﬁ;fi)roduced an arrow with comesponding unequal sides. B. Jordan is carect. What Laurita described could be the results of reflecting the square across the

C. A translation of th the 75 duced d iih G I anal Yaxis rather than rotating it
) e et of the arrow on 97’ produced 8 second armow wit corresponding equa angles. C. Laurita is correct. What Jordan described could be the results of translating the square horizontally
D. A reflection of the arrow on the*@ roduced a second arrow with corresponding equal angles. rather than rotating it.

D. Jordan is correct. What Laurita described could be the results of translating the square horizontally
rather than rotating it.

Which of the following statements is true about the image of the segment when it is reflected across the
-axis?
XIS ¢ 4. Roberta is given a line segment with endpcints A(-9, -2} and B4, -7}, She is then asked 1o reflect the
segment across the y-axis. What are the coordinates of the endpoints of the new segment?

A. A9, 2)and B(4, 7}
B. A18,-2) and B4, -7}
C. A19,2) and 54, 7)

D. A(-8,-2}and B4, 7)

5. Ronaid's teacher gave him the segment CD with end points C(3, 1) and D(7, 4) and asked him 1o rotate the
segment 80 degrees clockwise about point p Which of the foliowing is true about the original segment and
the resuit of the rotation? *

A. The segments have lengths with a ratio of 2:1,
B. The segments share an endpoint.

C. The segments share both endpoints.

D. The segments have lengths with a ratio of 1:2.

A. The image shares an endpoint with T,

8. The fength of the image equals the length of T,
C. The image intersects CIJ.

D- The length of the image is twice the length of TP,

8, Given the refiected iriangles in the diagram below, which congruency siatement is correct?
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6. Carmeia graphed & triangle with the coordinates et T ) ®
f(_S. 7). B2, 3); ::;d (7, 4). Her teache(r,1 asked her to translate the triangle 5 to meﬂ - ancf'gdf £ « Cammeia 5
e new i of

2d tha triangle were A1, 12), BY-2, 8). ax i
the following is true sbout Carmel's statements g (1,12), BY-2, 8} and /3, 9). Which of

A. Carmela's answer is correct, e -

8. ;:3;?:19!5'5 answer is not correct. She should have added 5 1o the x-values and added 4 fo the s
~values. )

C. Carmela's answer is not corract, She sixou!d have subtracted 5 from the x- i ]

{rom e g omsuer om the x-values and sublracied 4 2]

D. Carmela's answer is not correct. She should have subtracted -
rom fhe g osuiet biracted 4 fram the x-values ang sublracted 5

7. IFATCAis the result of a transtation and a reflection of AGDO, which angle is
congruentto 27
o D. AABC=AFFD
A 31
24 e 9. Mrs. Billings gives her studants the triangles below craated by performing a rotation and asks them to state
37 which angle is congruent to angle - §
37
T 22 £ 0
% . 11 Al
C . 17 13 £
A
A LT 17
8 20 13 !
C 4 © o o
D. Since the triangles are the result of atransiation and & reflocti on. the Stacie tefls her friend Joelle that sngde@s congruent {o angle é‘(mel!e $ays she is wrong and that angle@s
angle measures are not preserved. congruent to angle Ewm‘ch of the following statements cormrecily describes the students’ work?

A. Stacie is correct. Angle fland angle £are both located on the lower right hand corner of the trizangles,
so they must be congruent.

Stacie is correct. Angle B and angle € are both the micdle angles, so they must be congruent.

- Joelle is correct. Angle 6 and angle £ are both opposite the side with a length of ‘%en(imeters. so
they must be congruent.

Neither student is correct. Since the triangles are the result of a rotation, angle measure is not

preserved.
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10. Which of the following lines is parallel o the line on the coordinate plane below?

Version A

A pair of paralle! inss defined by the equations y=%x +7andy=
is translated 8 units along the v~ axis Which of the following statements

istrue?

A Thﬁ two fines that are the result of the translation are parallel to each other and perpendicular o the
original lines.

3 ;!"he two lines that are the result of the transfation are parallel to each other and parallel to the original
ines.

®

o

. The two lines that are the result of the ion are
perpendicular to the original lines.

. The two fines that are the result of the Iranslation ara perpendicular to each other and paraliel tothe
original lines.

10 each other i and

j=]

Quadrilateral ABCD is translated to quadrilaterel AB'C'D'
by (X, ) —~{x+ &4y +£) What ars the coordinates of B'7

08642 1248810,

The triangle below is translated using {x, ¥) — {(x-2.y -5} What
viill the new image look like in the coordinate plane?

“p
s

- N WD B 1 DO

-10-8-8-76-5-4-3-2-14{ 1234587 8810 4

4. Quadrilateral EFGH below is dilated by a seale factor of Rabout the origi i H
are the coordinates of £7 3 origin to get quadrilateral EFGH' What

S
s ooNeed <

-1094-7-5-5-4-358?‘44 345678310,

2| .F
-3
-4

5.

S
-7
8
-8
10
-

15. The sign for a new music store is going to include the two images of a guitar. Which

transformations would move the first guitar on top of the second?

.

iy ]
Which of the following transformations witi result in a figure that is Zongruent to a given figure?

1. areflaction across the x-axis

1. a reflection across the y-axis

fii. a ransiation to the right 2 andup 3.
{V. a rotation of 180 degrees counterclockwise
V. a difation by a factor of 2

Look &t AABC and 6A'B'C” below.

PR SR
-1D5-8-7-8-5-4

\Which o the following statements is true about AABC and AA'B'C™?

A. Since & reflection and a dilation created AA'B’C" using AABC, the figures
are not similar.

B. Since 3 ransiation and a ditaticn created AA"B"C” using AABC, the figures
are similar.

C. Since a refiection and & dilation created AA B 'C using SABC, the figures
are similar.

D. Since a translation and a dilation created AA'B"C" using AABC, the figures

are not similar.




18. Use the graph below to solve the problem.

19.

NRPODULOD <
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Lauren stated that KLMN ~ KL 8" N since KM N wont through
two transformations. Which staterent correctly describes the
transformations?

A KLMN was dilated by a factor cf% and reflected over the y-avis

8. KLMN was dilated by a factor of 2 and refiected over the x-axis.
C. KLMN was dilated by a factor of 2 and reflected over the y-axis.

B xemn was dilated by a factor of% and reflectad over the saxis.

Whatis m £ FCDin the drawing below if m 2 CBE =42 and m £ BFC=93°7
E
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Version A
Inthe diagram below, xjjy, m TMQ=145 and m 2 Qs =45° e

w.L N__wy
M
T P
Q i4
] R

Determine m < MQP ang how this measure relates Om <L TMQing

Determing i fuding
e justification for the determination. ¢

>

The diagram does not have enough information to deterrine m 2 J4QP.

Since ZMQPang M@S are adiacent angles, m £ MQP =270 —g50 = 205°,
Therefore, m< MQP>m £ THMO

w

o

Since £ MQPand 7 QS are adjacent angles, m ./ MQP=360°-£5%= 3950
Thsrefore, ms (QB> m LTHMQ.

©

Since £MQPand £ M08 arem finear pair, m £ MQP= 180° - 450 = 145°
Therefore, mo MQP=m.sTIQ. ‘

Mis. James asked her math class to deterrmine the SOl
equation below.

V= g

Which of the following represents the solution(s} of this equation?

ion(s) of the

Ay=tg
Boy=",
C.y:il.r‘
Dy= 4

Sotve.




